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(a) 60,000

(b) 56,000

(c) 58,000

(d) 62,000

(e) 59,000
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(a)5:4

(b)3:2

(c)2:3

d)7:8

(e)4:5
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(@)7:5
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()12:13
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(a) 60%

(b) 74%

(c) 75%

(d) 80%

(e) 64%
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(a) 18 VIR

(b) 20 B9R

(c) 17 BvIR

(d) 19 B9R

(e) FTH A P el
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@ 33;%

(b) 2209

(©) 209

(d)23 ;% .

(©) MNone of these
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(a) 12 BVvIR

(b) 14 89IR

(c) 15 BWIR

(d) 16 BIIR
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(@)3:5

(b)6:5

(c)5:3

(d)5:6

(e)7:8
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(@)2:5

(b)4:3

(c)3:4

(d)3:2

(e)2:3
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Q11.9Y 2011, 2012, 2014 3R 2015 ¥ THHATY Y-2T3Y & 94 MY 14t Ae &Y 3ia
@ feaHt g2

(a) 32869

(b) 36250

() 35600

(d) 39827

(e) 42686
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(a) 2504
) 62-%
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(d)
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(a) 2014

(b) 2012

(c) 2015

(d) 2011

(e) 2010
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(a) 2010

(b) 2013

(c) 2011

(d) 2014

(e) 2012
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S1. Ans.(a)
Sol. Total employees of the given five banks
=(8+9+3+4+6+5+6+7+5+7)x1000=60000

S2. Ans.(d)

Sol. Ratio of male to female probationary officers in all five banks

= (8000 + 3000 + 5000 + 7000 + 5000): (9000 + 4000 + 6000 + 6000 + 7000)
=28000:32000=7:8



S3. Ans (b)
Unmarried males in HDFC = 5000 x % = 2000
~ Married males of HDFC= (5000 - 2000) = 3000
Unmarried females in HDFC = 6000 x % = 1800

~ Married females of HDFC = (6000 - 1800) = 4200

Sol ~ Required ratio = 3000 :4200=5:7
ol.

S4. Ans.(e)
Sol.
Number of male married probationary officers in ICICI

= Number of male married probationary officers in PNB
, - X L = 7000 X — = 2800
= Male probationary officers in PNB 100 oo
=~ The percentage of married male probationary officers in ICICI w.r.t to the total

probationary officers in ICICI

2800 x 100 1
7000 + 5000 3
S5. Ans (c)
. __ 7000 — 4000
ol Required% = 000 % 100%

= 75% more than female probationary officers in BOI

S6. Ans.(b)

Average number of classmate notebooks

sold by all companies in the certain month

1
=-(17+22+33+13+15+20)

1
=—-x120
]

Sol. = 20 thousand

S7. Ans.(a)
Classmate notebooks sold by company F = 20,000

Classmate notebooks sold by company E = 15,000
20,000-15000

~ Required percentage = 1000 x 100
_ 100 33 1%
Sol. 3 3

S8. Ans.(b)



Average number of Volga sold by companies A, E&F
1

=3 x(13+12+17)
1

==X 42
3

Sol. = 14 thousand

S9. Ans.(d)
No. of classmate notebooks sold by company E = 15,000

Volga notebooks sold by company B = 18000

~ Required ratio = ZLEDM
18000
5
Sol. ©
S10. Ans.(e)
18 2
Required ratio = — = —
27 3
Sol.
S11. Ans.(b)
Required average = (30 + 25 + 50 + 40) * 1000
Sol. = 36.25 x 1000 = 36250
S12. Ans.(c)
i :E = £'|:|
Sol. Required % oo < 100=37%
S13. Ans.(d)
Required percentage increase = % * 100
- 2% o = 562%
Sol. 3 3
S14. Ans.(b)
In year 2011 ==—=2 100 = — =X 100 = —25%
In year 2012 = == X 100 = 166 %

In year 2013 = =" X 100 = 12.5%

222 100 = —16.67%
45 _
Inyear 2015 =22"272 » 100 = —200%
SO]. 37.5

Inyear 2014 =




S15. Ans.(b)
Sol. From the graph the minimum difference is in the year 2013.



